
Instructions for the Candidates
1. Write your Hall Ticket Number in the space provided on the top

of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper

seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example :      A B C D

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your name or put any mark on any part of the OMR

Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

 10. Use only Blue/Black Ball point pen.
 11. Use of any calculator or log table etc., is prohibited.
 12. There is no negative marks for incorrect answers.
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PUBLIC ADMINISTRATION

�)������	���T�;J����
Paper – II

-����a��– II

1. �� ����� ��	
�� ��
�	�� i�
���"������"	��"����j��
���k����'�
(A)  �l���!'����"�!�
(B) #$%�&'"(�"��!�
(C) &)"�*�+m��"�
�"
(D) � ,�����-���."�

2. ii/$n0�!��12��o�p+',/3����4����5."6����q�rsm�7��'�8�
."���qjj
�����l�������'��+$��'�
(A) 2��%���
�9
(B) r�!'%��#$/':s'
(C) r�!'%���%�r�;��
(D) ��"�s'%r�!'%��
��+)"<
"=	

3. /$n 0�!�� ���;>�-'/3�������� �/$��"�?
�=� <�@����� �
��AB��C��� 
�
�C?�C/'��D��/3��"��
��E��
(A) �/$��"�?
�=�t��F�B�G?
��
��
(B) H
�7,/$��'����6�
��1A�����'�
(C) k��
��I������AB��C?
�
(D) ���'=/)"u"�k��
����':�C�

4. ������
������'?
�B-�<
"�����
���'J��'��t�
���'
�" � +$��'0�
�����	
/$B��K�� � �����
���
�� r�
����'�L�
���%� v /'	�."�6�
�
/'�
��AB��
�/$M��;2����
�������	��H
���
���w

1. ����'����+)"#',��!�q
2. 
��!'9������'x���
3. 
��!'9����!'J���"s'
4. 
��!'9�2��
�"/)yN'

�*+a�_ :
(A) 1, 4, 3, 2

(B) 1, 2, 3, 4

(C) 1, 3, 2, 4

(D) 1, 3, 4, 2

1. Who, among the following, can be
considered as neo-Weberian ?
(A) Luther Gulick
(B) P. Sleznick
(C) Henri Fayol
(D) Elton Mayo

2. The book “Public Administration in
Times of Turbulence” is authored by
(A) D. Waldo
(B) R. Presthus
(C) R. K. Arora
(D) S. R. Maheswari

3. The distinction between Public
Corporation and Government
Department is in the area of
(A) Public accountability
(B) Legal authorization
(C) Social responsibility
(D) Operational efficiency

4. Arrange the following Governor-
Generals of India in their chronological
order. (Choose the correct answer
code)

1. Warren Hastings
2. Lord Curzon
3. Lord Cornwallis
4. Lord Dalhousie

Codes :
(A) 1, 4, 3, 2

(B) 1, 2, 3, 4

(C) 1, 3, 2, 4

(D) 1, 3, 4, 2
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5. When the Parliament is not in session,
the President can issue ordinances
under which Article of the Indian
Constitution ?

(A) Art. 121 (B) Art. 122
(C) Art. 123 (D) Art. 126

6. Under Article 262 of the Indian
Constitution, Inter-State Water
Disputes Act was enacted in the year

(A) 1956 (B) 1957
(C) 1958 (D) 1962

7. Match the items in List I with those in
List II by choosing the correct code.

List-I     List-II
(A) Social Equity 1. Sala

(B) Cross-cultural 2. Bazaar-
administrative Canteen
studies

(C) Social groups 3. Comparative
in a developing Public
society Administration

(D) Administrative 4. New Public
subsystem in a Administration
developing
society

(E) Economic system 5. Clects
in Developing
Societies

6. Human
Relations

7. Classical
theory

Codes : A B C D E

(A) 1 2 3 4 5

(B) 2 1 5 4 7

(C) 5 1 3 6 2

(D) 4 3 5 1 2

5. O���'0�����5�"�/'�
���-�<
"��
�"��/'�
����"��
�P���/3z/$Q���
r	9����
��q ��4H
��L�1A�����'�� ���">�H
��� ����'?
�
��(�C�����1A������'u"��{��|
(A) Art. 121 (B) Art. 122

(C) Art. 123 (D) Art. 126

6. ����'?
� ��(�C���� /$M 262 �
��1A������'u"�� �����B��
1�?
��!'��/3z�t ���B� �H
�7,��
�����'�O}���R�
�
/'��
�?
�q��'��{��|
(A) 1956 (B) 1957

(C) 1958 (D) 1962

7. /'	�."�6�
���;2����
�������	��H
�2����B�=���/$5�",����I �
��
r�<� �
���/$5�",����II 
���r�<� ?;�t?
�H-���"���
���

��D!�d��
�– I     ��D!�d��
�– II
(A) k��
��I����/'�
��?
� 1. k�
�
(B) ~�
�J�/'�/'S�T?
�� 2. F(��!'���C�5�"���

O� ��AB��C��"��� �
(C) 1~�
�T���H���B���?
���
�J 3. ?
�� ��?
�o���

/'�
��t�
���k��
��I��� �/$��"�?
�=�O� �
�
/'�
���U �

(D) 1~�
�T���H���B���?
���
�J 4. �
��?
��
�
/'�
��t�
���O� �� �/$��"�?
�=�O� �
�
E/$�
�C�
�/':

(E) 1~�
�T���H���B���?
���
�J 5. ���0����, �
/'�
��t�
���r	:���
�
�C�
�/':

6. �
���
��
�
/'�F�AB� �

7. /'��/$B���"�
#'B���?
��

�*+a�_ : A B C D E

(A) 1 2 3 4 5

(B) 2 1 5 4 7

(C) 5 1 3 6 2

(D) 4 3 5 1 2
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8. Which of the following taxes are NOT

levied and collected by the Union

Government ? (Answer by choosing

the correct code)

(1) Income tax on Agricultural

Income

(2) Excise duty

(3) Import duty

(4) Property tax

           Codes :

(A) 1 & 4

(B) 2 & 3

(C) 2, 3 & 4

(D) 1, 3 & 4

9. ‘Pocket Veto’ of the President of India

refers to

(A) The President giving assent to

the Bill passed by Parliament

(B) The President rejecting the Bill

passed by the Parliament

(C) The President referring back to

the Parliament the Bill passed by it

D) None of the above

8. ���������5�"
����"�����"����� �/$��"�?
�=���A��H
��P

�
�/'� ��H-���"��� /$�
��J ��{��|�v?
�V�
���;2����
��

����	��H
�2����B�=���/'�
��AB��
����
���ow%

(1) �
�C�
�k���"��rB���"��&$6�rB���"�/$M�/$�
��J

(2) ����6q��/'������

(3) ������
��Q�/'������

(4) r##'��/$�
��J

           �*+a�_�:

(A) 1 �
��	��"�� 4

(B) 2 �
��	��"� 3

(C) 2, 3 �
��	��"�� 4

(D) 1, 3 �
��	��"�� 4

9. ����'?
����/3z/$Q�iO����5�"�K5�j�����1��':�

(A) O���'0�����7��r������R�
��n �0�������/3z/$Q

?
��
��/'�
��oQ���/$���5�"�H
�2���

(B) O���'0�����7��r������R�
��n �0�
�����/3z/$Q

Q��'/'S	�H
�2���

(C) O���'0�����7��r������R�
��n �0�
�����/3z/$Q

Q	V�O���'0�����7��-��/$�/$2���

D) &$6�-�K����
�M
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10. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).  Read them

carefully and choose the correct code

to give the correct answer in the

context of these two statements.

Assertion (A) : The average

human being

prefers to be directed

and avoids

responsibility.

Reason (R) : The average human

being under proper

conditions not only

accepts but seeks

responsibility.

Codes :

(A) Both (A) and (R) are individually

true, and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually

true, but (R) is not the correct

explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

10. �����B�����'�2�����/$���7�
� ��
�J��1������5�"��/$QO�B���
�

Assertion (A) �
��	��"��� ��'�2���� +)"?
���
�M

Reason (R).  K5�"��B��T#3,
��E�H
���W�

/'	�."�6�
���;2����
�������	��H
��2��

���@;J#����� (A) : /'���7�� � 
���
�� 
�M2���� r(� �

FB����2�������
�2�������
��	��"��

��AB��C?
��
���?
�#$>�H
���;�
�2�����

�����������H
��/$M?�2���

�)���V�" (R) : /'	�."�6�
��/$	#':?
��
�0�/'���7�

�
���
�� 
�M2���� ��AB ��C?
�� 
��

N'=���	�H
�2���-��� �������2�

�;��'������5�2��������2�

�*+a�_ :

(A) (A) �
��	��"�� (R) ��'�2�����2����2����

/'	�."�6�
����
��	��"�� (R), (A) �����/'	�."�6�
�

��
���'u"

(B) (A) �
��	��"�� (R) ��'�2�����2���2����

/'	�."�6�
��-�� ���� (R), (A) ����� /'	�."�6�
�

��
���'u���B���"

(C) (A) �/$���
��	��"�� (R) ?
�/$�

(D) (A) ?
�/$���
��	��"���(R) �/$�
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11. Which one of the following books is

written by P. Sleznick ?

(A) The Functions of the Executive

(B) The Administrative State

(C) New Patterns of Management

(D) Leadership and Administration

12. Identify the correct sequence in social
research

(A) Objectives of the study, data
analysis, data collection

(B) Data collection, objectives of the
study, data analysis

(C) Objectives of the study, data
collection, data analysis

(D) Data analysis, data collection,
objectives of the study

13. Deliberate increase in public
expenditure over public revenue in
budget is known as

(A) Public Debt

(B) Fiscal Deficit

(C) Deficit Financing

(D) Market Borrowings

14. Which one of the following schools
does not subscribe to the managerial
view of administration ?

(A) Neo classical school

(B) Scientific Management

(C) Behavioural school

(D) Public Policy school

11. ���������5�"
��#$"sm�&'"(�"��!����'R�R�
�������l���-����|

(A) B���/m�X�����q�rsm�B����Vx����C5�"���

(B) B���12��o�p+',5�"����+',5�"

(C) �
��C�O�7�!'���q�rsm��-���-�(�"�����5�"

(D) �2���!'#3s$�1�2!��12��o�p+',/3���

12. k��
��I���� /$	<�AB���
�
��� /'	�."�6�
�� �����
���J
����	��H
��2��
(A) 1AB��C��"��
�� X�C �P�B��?���<
"��<-"0/3u"P�B��?���<
"

+'�����'u"
(B) B��?���<
"�+'�����'u"P�1AB��C��"��
�� X�C �P�B��?���<
"

�<-"0/3u"
(C) 1AB��C��"��
�� X�C �P�B��?���<
"�+'�����'u"P�B��?���<
"

�<-"0/3u"
(D) B��?���<
"��<-"0/3u"P�B��?���<
"�+'�����'u"P�1AB��C��"��
�

 X�C �

13. F2��x5�"
�� �/$��"�?
�=� rB���"��� ����5�"� �/$��"�?
�=
�
�C��"��J����� ��&$�H
�2��J�{�
���5���'��|
(A) �/$��"�?
�=���'�u"�
(B) �B���
�C�
�7�
(C) 
�7���B���
�C��AB��
��
(D) �
����'S7����'�u� �+'�����'u"

14. D�������
�� ���
��O� ��B��T���>l���������'=/)"u�
B��T���>l��J�F /$��'H
����{��|

(A) �
��
�C�/'��/$B���"��B��T���>l���

(B) <�N'���"�����'=/)"u"

(C) �/$�
���'������B���B��T���>l���

(D) �/$��"�?
�=��AB��
��B��T���>l���
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15. Which one of the following is true of
‘validity’ ?

(A) Samples

(B) Measures

(C) Research design

(D) Causal propositions

16. Match the contents in ‘A’ with those
in ‘B’ by choosing the correct code

“A” “B”

(Committee on) (Chairman)

1. Corporate A. Naresh

Governance Chandra

2. Criminalization B. Kelkar

of politics

3. Disinvestment C.  G.V.Ramakrishna

of Public sector

undertakings share D. N.N. Vohra

Codes :
1 2 3

(A) A D C

(B) A B C

(C) B D C

(D) B A C

17. Who, among the following, was not
the Chairman of the Finance
Commission ?

(A) K. C. Pant

(B) K. Brahmananda Reddy

(C) C. Subramanian

(D) Y. V. Reddy

15. ������� ��5�"
�� iH�� �0��7�j����� /'�F�A��R� {�
/'	�."�6�
���|
(A) �/$QH
���"��� �
(B) �W �
���� �
(C) /$	<�AB���
���
��
����
�
(D) ����'C����'u"��/$QO�B���
� �

16. /'	�."�6�
�� t��F�� �;2!�� v /'��-�?
��w?; ‘A’ 
��
1�<� �
���‘B’ 
���1�<� ?;�/'	����t?
�/$��'L�2��%

“A” “B”

(g'/�0�'6��	H	" ������
H	D!�) (�8#���M�
	+��	)

1. ���;>�-'5�"�����
���'J���q A. �
��-'s3�H
���B��
2. ��t�����"� ��-���' B. �-�
�"�����!'

�
���'�������'u"
3. �/$��"�?
�=���'�����/'�/':
�0 C. I%�%����
�����T/3Y

&$7�,F2��� 
E/$/'�/)"��'u"

D. ����%����%��W�U

�*+a�_ :
1 2 3

(A) A D C

(B) A B C

(C) B D C

(D) B A C

17. ������� ��	
�� r	:���� /'�/m���1AB��CX���2���� ����
��
���'��|

(A) ���%#'%�/$�?��

(B) ���%��FUo�
��B����'2��9

(C) #'%�/'��F�
�����"����

(D) ���6%�%���'2��9
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18. Article 243-I (74th Constitutional

Amendment) of the Indian Constitution

deals with

(A) Elections to Municipalities

(B) State Level Finance

Commission

(C) Committee for District Planning

(D) Reservation of seats for women

19. “Organization is a system of

consciously coordinated activities” is

a view stated by

(A) F.W. Taylor

(B) H.A. Simon

(C) Max Weber

(D) Chester Barnard

20. According to H. A. Simon

programmed decisions are

(A) Pre-determined

(B) Adhoc choices

(C) Routine and repetitive

(D) None of the above

21. In Kautilya’s ‘Arthasastra’, ‘dharma’

refers to

(A) Administration of religious
edicts

(B) Administration of law and justice

(C) Punishment to wrong-doers

(D) All the above

18. ����'?
�� ��(�C����
�� 243-I 1A������'u"� (74�
�
��(�C�����/'�
���'u") B-������/'�F�A��R�
���|

(A) /$M��'O� ����/'�/m� ���J��� �

(B) ��/3zk�:�'���r	:����/'�/m��

(C) I
�0�k�:�'����/$u�����/'�/m��

(D) N'� �����N'70�	t�-'=/3�
��0

19. “ �
�C�
�/':�1�5�"�EB-�Z<
"�/$[��'=��������/'�
���
�=��"��/$��'H
�F2-�
����'C���
�O� �” 1����
���'��H��O�>��'��|

(A) �sm%�2��F�0C%�5�" �!'

(B) �H��%��%�&'6�
�����

(C) �
���!�q����F�!'

(D) H��/',�!'�F��J�!'9

20. �H��%�%&'6� 
������ � /$����'�� ����'C�� ��K����	�R�
�
���'Y��"� ��1�5�"
(A) /$[��'=�����	?� �
(B) ?�?�S"������#$��� �
(C) B��6����?
�P�/$M�
����
�TQ���� �
(D) &$6�-�K����
�M

21. ��5�" �C��i1��':<�/'��j
��iAB����'oj�1�5�"

(A) �
��?
�<�/'�� �O� �
�

(B) H
�5�, ����C��"��O� �
�

(C) B;/3� �
����X���H
��7

(D) &$6��1*J
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22. Which one of the following is NOT
correctly matched ?

(A) New Public Administration –
D. Waldo

(B) Development Administration –
Edward Weidner

(C) Comparative Public
Administration – Vincent Ostrom

(D) Critical Theory – Jurgen
Habermas

23. The Zonal Councils have been
established by

(A) Article 263 of the Constitution

(B) Zonal Councils Act

(C) An order of the President of India

(D) States Reorganization Act

24. Formalism is referred as
(A) Bazaar-Canteen Economic

system

(B) Prevalence of Clects

(C) Existence of undifferentiated
structures

(D) The degree of discrepancy
between prescribed norms and
actual practice

25. Prismatic society is characterized by
(Choose the correct answer code)

1. Elite domination
2. Poly-normativism
3. Institutionalization
4. Universalism

Codes :
(A) 1, 3 (B) 1, 2
(C) 2, 4 (D) 1, 4

22. D�������
�����
��{��/'	����t?
�/$��'H
�
�"B����|
(A) �
��?
��
���/$��"�?
�=�O� ���<�/'���–�2��%��
�9
(B) �/$���Q�O� �
��– �2!��
��!'9�K2��J�!'
(C) ?
�� ��?
�o���� �/$��"�?
�=O� ��� <�/' �� –

����&'�5�"�r�/',����
(D) �� ��5�"� ��
�"� #'B� ��?
�� 
��� – �� !'� ��� ��

&)"F�!'�
��s'

23. �O��\��"� �
���2�� �� {��>7�� B-��� B�=��
t	V���|
(A) ��(�C���� 263 �
��1AA������'u"�
(B) �O��\��"���
���2��]�"��H
�7,�
(C) ����'?
����/3z�/$Q�E?
����'�=
(D) ��/3z�/$M�
��!'�
�C�
�N':�����'u"�H
�7,�

24. 
���
��
�?
�=��/'�R�H
���
��

(A) F(��!'���C�5�"����r	:�����
�C�
�/':�
��

(B) ���0����, �E�����

(C) �/$?-�C��������'u"�H���B�������ou� �E����

(D) ��-'Z��R�
�����"��
�� ������
��	��"������/'��
�
rH
���'u"������
��AB��C��� ��
�C?�C/'��k�:�'��

25. O���'B����'������/'�
��(������{� X��u� ��E�5��."�
/'	�."�6�
���;2����
�������	��R�?�� �/$M�
���

1. �/3�, �rA����C?
�
2. F/)"�]�"��/$�
��u� ���B���
3. /'�N':�����'u"�
4. k���'=�Q���?
�

�*+a�_ :
(A) 1, 3 (B) 1, 2

(C) 2, 4 (D) 1, 4
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26. Who among the followings prepared

the background paper on ‘criteria of

relevance’  as a frame of reference

for comparative study of administration ?

(Answer by choosing the correct

code)

1. F. W. Riggs

2. Herbert Simon

3. Wallace Syrae

4. Herbert Kaufman

Codes :

(A) 1, 3

(B) 2, 3

(C) 2, 4

(D) 3, 4

27. Which of the following, according to

F. Herzberg, can be identified as

‘satisfiers’ ?  (Answer by  choosing

the correct code).

1. Achievement

2. Responsibility

3. Salary

4. Recognition

Codes :

(A) 1, 2, 3, 4

(B) 1, 2, 3

(C) 1, 2, 4

(D) 2, 3, 4

26. ?
�� ��?
�o����O� ��AB��C��"��� ���6��	oQ��
E/$��"����� �� �O�QO������ � -� /$l ��C� /$�? 
�� 
����
��
?
���"���'�H-�#'�
������'�
���'��|
v?
�V�
���;2����
�������	��H
�2����B�=��
/'�
��AB��
����
���ow%

1. �ssm%2��F�0C%�	�!�q

2. &)"�!'F�!',�&'6�
�����

3. ��
�"s'�&'6�-'

4. &)"�!'F�!',���sm�
�����
�*+a�_ :

(A) 1, 3

(B) 2, 3

(C) 2, 4

(D) 3, 4

27. ���������5�"
��&)"�!'xF�!'���/$����'��i/'�?
�T#$������'�� �j
{�� |� v?
�V�
�� �;2����
��� ����	��H
�2���� B�=��
/'�
��AB��
����
���ow%

1. k�AB���
�
2. ��AB��C?
�
3. �-�?
��
��
4. ����	��/$M

�*+a�_ :

(A) 1, 2, 3, 4

(B) 1, 2, 3

(C) 1, 2, 4

(D) 2, 3, 4
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28. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason  (R).  After reading
them carefully choose the correct
code.
Assertion (A) : Integration requires

high intelligence,
perception and
inventiveness.

Reason (R) : If intelligence and
inventiveness are
absent, conflicts
cannot be resolved.

Codes :
(A) Both (A) and (R) are individually

true, and (R) is the correct
explanation of (A)

(B) Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

29. Which of the following steps,
according to M.P. Follett, are
important in giving orders ? (Answer
by choosing the correct code)
(1) A conscious attitude
(2) An experimental attitude
(3) Pooling of results
(4) The environment of giving

orders
Codes :

(A) 1, 2, 4

(B) 2, 3, 4

(C) 1, 2, 3

(D) 1, 3, 4

28. �����B��� ��'�2���� �/$���7�
� �� 4�
�=F2���
��%� ����5�"
�/$QO�B���
� Assertion (A) ��'�2���
��� +)"?
���
�M
Reason  (R).  K5�"��B��T#3,
��&$7�,�W��/'	�."�6�
�
�;2����
�������	��H
�2����B�=���/'�
��AB��
��
����4�
�M=�
���
���@;J#����� (A) : ^� ��C�����'u"����� ���
�"#'��

E�
�J?
�k�:�'���?��"�?-�7 �P
��� 
���< 
 "� �� �� � 
��	�� "��
1�-�=/3���?
�

"-U����	���= (R) : ? ��"�?-�7 �� � 
��	��"��
1�-�=/3���?
��
�#$+'��/m���'�u" �
��
/$	/3S	�H
��
�"�
���

�*+a�_ :
(A) (A) �
��	��"�� (R) ��'�2�����2���2����

/'	�."�6�
����
��	��"��  (R), (A) �����/'	�."�6�
�
��
���'u"

(B) (A) �
��	��"�� (R) ��'�2�����2���2����
/'	�."�6�
��� ���� (R), (A) ����� /'	�."�6�
�
��
���'u"���B���

(C) (A) �/$����� (R) ?
�/$�
(D) (A) ?
�/$����� (R) �/$�

29. rt�"H
��L7�������"�����%#$%��
.�5�"���/$����'���'��������
�
H 
�� �'C 
�� � 
���@C� ��� 6� 
�� -��� | ( /'	�. "� 6� 
�
/'�
��AB��
��
����
�J��;2����
�������	��/$M�
���)
(1) EB-�Z<
"C/$[��'=����B��T���>l���
(2) �/$�."���?
�o����B��T���>l���
(3) /m"?� �������'�>
(4) rt�"H
��L7�������� �/$��C�
���'u"�
�*+a�_ :

(A) 1, 2, 4

(B) 2, 3, 4

(C) 1, 2, 3

(D) 1, 3, 4
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30. Administrative management,
bureaucratic theory and scientific
management are associated with

(A) Classical theory of organization

(B) Organization behaviour theory

(C) Open model theory of  organization

(D) None of the above

31. Match the items in List I with those in
List II by choosing the correct code :

                List-I  List-II

A. Guardian 1. Rule by officials

bureaucracy chosen on the
basis of
qualification
and merit

B. Caste 2. Rule by

bureaucracy politician

C. Patronage 3. Position in an
bureaucracy ideal state

D. Merit bureaucracy 4. Rule by
officials
chosen from
higher caste/
class

5. Rule by official
chosen through
spoil system

Codes : A B C D

(A) 5 1 2 3

(B) 1 2 4 5

(C) 3 4 5 1

(D) 4 2 1 3

30. O� ������'=/)"u"P�EB;C���k�=�
��C� #'B� ��?
��
���
� 
��	�� "��� <� N' ��� "�� ���'= /) "u" �� B -��� ��
/'�F�A��R�
���|
(A) �
�C�
�/': �/'��/$B���"��#'B���?
��
���
(B) �
�C�
�k�:��
���'��
��#'B���?
��
���
(C) F#)"��'������
�C�
�/':��
��
������#'B���?
��
���
(D) &$6��{K����
�M

31. (�n?��I���(�n?��II�?;�/'	�."�6�
��/'�
��AB��
��
���
��� ��;2����
�����H
���W��t?
�H-���"���
���

h[i���– I h[i���– II

A. /'���'X��u"�EB;C���k�=�
��C� 1. 1��' _ ? 
�P� �. "����C? 
�
�O�Q/$�� ��� ��#$� ��
H-���"�F2���
��EB;C���/'�� 
O� �
�

B. ���� �EB;C���k�=�
��C� 2. ��t�����"�
����"����� �O� �
�

C. O�/3����EB;C���k�=�
��C� 3. rB����'�� ��tC�
��
#':Q

D. �."����C?
��EB;C���k�=�
��C� 4. E� 
�J? 
� � � ��
� �P
�
���� ��
���R
��H 
 � � �;F2 � � � 
 �
EB;C���� H-��O� �
�

5. �(�"?
�T������
�
�C�
�k��B;C����C 
O� �
�

�*+a�_ : A B C D

(A) 5 1 2 3

(B) 1 2 4 5

(C) 3 4 5 1

(D) 4 2 1 3
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32. The statement, “It is getting to be

harder to run a constitution, than frame
one” was made by

(A) Abraham Lincoln

(B) Dr. Baba Saheb Ambedkar

(C) Jawaharlal Nehru

(D) Woodrow Wilson

33. Rural-urban divide in local
government in India is the

(A) Legacy of freedom struggle

(B) British legacy

(C) Result of the 73rd Constitutional
Amendment Act

(D) Result of Convention

34. Which, among the following, are
centrally sponsored schemes ?
(Answer by choosing the correct
code)

(1) Integrated Wastelands
Development Programme

(2) Sampoorna Grameen Rozgar
Programme

(3) State Rural Roads
Development Agency

(4) Swarnajayanti Gram
Swarozgar Yojana

Codes :

(A) 1, 2, 3, 4

(B) 1, 2

(C) 3, 4

(D) 2, 3, 4

32. i��(�C�������'�/$��� >�
�������J�B���1�
�� ��t� ���
�
����'�?
����j�1�-���/$���7�
��H-�#'�
��B���
���'��|
(A) 1�F/)"�����"�������
(B) 2��������k�&)"��"�1���"B��S�!'
(C) t�
�/)"�!'
�
�"������/)"�
(D) E�2;�� q���

33. ����'?
�B-�<
"�
�����K�u"P� /$7,u"�k�:������/$��"�?�= 
���"t�
��1�-��

(A) k�=?
���?;B��C�
�������'/'?
�=�
���

(B) �n5�"s3�����'/'?
�=�
���

(C) 73 �
����(�C�����/'�
���'u"�H
�7,��/m"?
��
���

(D) /'��/$B���"��
��k���'�
�������
�RL�
��

34. ������� ��5�"
�� �-���B��� �O��."�I?
�� /$l ����
�"��5�
/'	�."�6�
���;2����
�������	��R�?�� �/$M�
���

(1) /'K�� ��T? 
�� �2 ���� ��"��
��� �1~� 
�T� �
����'C�����
���

(2) /'�/$[��'Y����K�u"�EO�A������'C�����
���

(3) ��/3z����K�u"��;2��0�1~�
�T���{t*q

(4) /'=��'Y�t��"��Q����K�u"�/'=��"���EO�A���� >�
�
�."�t�
�

�*+a�_ :

(A) 1, 2, 3, 4

(B) 1, 2

(C) 3, 4

(D) 2, 3, 4
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35. Identify the chronological order in

which the following commissions
were established in India by choosing
the correct code

(1) National Commission for
Scheduled Tribes

(2) National Commission for
Backward Classes

(3) National Commission for
Women

Codes :

(A) 1, 2, 3 (B) 3, 2, 1

(C) 1, 3, 2 (D) 3, 1, 2

36. Which one of the following IS NOT
the objective of National Urban
Information System Scheme ?

(A) Urban Spatial Information
System

(B) Housing and Household
statistics

(C) Vital statistics

(D) National Urban Data Bank and
Indicators

37. Identify the correct sequence of the
following words as they appear in the
preamble to the Indian Constitution by
choosing the correct answer code.
(1) Sovereign
(2) Democratic
(3) Secular
(4) Republic
(5) Socialist

Codes :
(A) 1, 3, 4, 2, 5
(B) 1, 4, 5, 2, 3
(C) 1, 5, 4, 2, 3
(D) 1, 5, 3, 2, 4

35. /'	�."�6�
���;2����
�������	��H
�2����B�=�������������K�/3��
�0�
��
��5�"����"��
����� /$M� /'��
�?
�q�� � �� �����
���
�
1�
����'�L�
���
(1) &32���C �9�?����� �(�\��"�����K�/3�
��
(2) ����
�����F2���
��?
���'���?
�� �(�\��"�����K�/3�
��
(3) (�\��"���
��#)"]�����K�/3�
��
�*+a�_ :

(A) 1, 2, 3 (B) 3, 2, 1

(C) 1, 3, 2 (D) 3, 1, 2

36. ������� ��5�"
��(�\��"�� /$7,u"� /'�
��H���'� �
�C�
�/':
/$l ������� (National Urban Information

System Scheme)  X�C 
��
�"�B-���|

(A) /$7,u"�/':
� �/'�
��H���'��
�C�
�/':

(B) ���T/)"����ou� P�����7���� ����u���� �

(C) ��
�����u���� �

(D) (�\��"��/$7,u"�/'�
��H���'���C�������
��	��"��
/'�R��� �

37. ����'?
����(�C������/$�-�����
����� ��������/$B� �
�����5�"
�
���'/'� �����
���
������	��H
�2�����6� /'	�."�6�
�� �;2����
��
��H
���W�
���
���
(1) /'��'=/'?�����
(2) �/$(�k�=�����
(3) 
y������
(4) ���u"?
���?
��
(5) k��
��C��B��
�*+a�_ :
(A) 1, 3, 4, 2, 5

(B) 1, 4, 5, 2, 3

(C) 1, 5, 4, 2, 3

(D) 1, 5, 3, 2, 4
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38. Which one of the following committees

recommendedconstitutional status

for the Panchayati Raj ?

(A) Balwantrai Mehta Committee

(B) Santhanam Committee

(C) L. M. Singhvi Committee

(D) G.V.K. Rao Committee

39. The responsibility for conducting

census operations in a district rests

with

(A) The Chief Electoral Officer of the

State

(B) The District Collector

(C) The Chief Secretary

(D) The District Superintendent of

Police

40. The grapevine is

(A) A hierarchy of informal relations

(B) Tendency of people to cut

across formal channels of

Communication

(C) An informal channel of

Communication within a formal

organization

(D) A secret channel of

Communication

38. /$�H��'��\���(�"�������(�C������/$Q/$Q��E�2� �

#'����'/'��H-�#'�
�������5�"�{��|

(A) F =�?
�����"������/)"?�������5�"

(B) /'�?��
��������5�"

(C) ��"�
�"%��"��%�#'�#m�=������5�"

(D) I%�%���%����
�M������5�"

39. I
�0� k�:�'��
�� t����� 
."���S � +'�����'u"� ��AB��C?
�

��
�	��|

(A) ��/3z��/$AB��
����J��� �1A���	�

(B) I
�0����
."���,��'��

(C) �
���@C�����'CB��	��

(D) I
�0�O��/'��/'�/$	�5."�2���7��

40. ��-�s$���6����1�
���

(A) 
���
��
���O���"������/'�F�AB� 

�����
���
�����?
���<-"u�"

(B) 
���
��
���O���"��
��������/$k��� �{��>70�
��

�/'o	�R��
�C�
�/)"	�H-���/$t ����6t�
���

(C) 
���
��
���
�C�
�/':
��E�2-��
���
��
��O���"�����

�/$k���'��
����'��

(D) �/$k��� ���6�{��'>��'R�
���������'/)"/'C��
����'��
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41. Given below are two statements, one

labeled as Assertion (A) and the other
labeled as Reason (R).  In the context
of these two choose the correct
answer code.

Assertion (A) : The Public Accounts
Committee was first
set up in the year
1925.

Reason (R)    : The Public Accounts
Committee  examines
the report of the
Controller General
of Accounts

Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A)

(B) Both (A)  and (R) are individually
true, but (R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

42. The district as a unit of administration
in India is similar to the pattern of

(A) Prefecture in France

(B) Canon in France

(C) Borough in U.K.

(D) Department in U.S.A.

43. A Parliamentary Committee submits
its report to

(A) The Speaker

(B) The President

(C) The Prime Minister

(D) The Attorney General of India

41. D�������
�� ��'�2���� �/$���7�
� ��
�J������5�"� �/$QO�B���
�
Assertion (A) P���'�2���
���+)"?
���
�M�Reason (R)

K5�"�� B��T#3,
�� &$7�,�W�� /'	�."�6�
�� /'�
��AB��
�/$M
�;2����
�������	��/$M�
���
���@;J#����� (A) : �/$��"�?
�=� `�?� � /'�/m��

?W"k�	� 1925 
�
��� �W >F2���
��

-U����	���= (R) : � /$��"�?
�=`�?� � /'�/m��
����p5� �!'� t� 
�� �'
�"� rsm
����5�"q��."�����S���-������
��
/$	�"/'����

�*+a�_ :

(A) (A), (R) ��'�2�����2���2����� /'	�."�6�
��
�
��	��"���(R), (A) �����/'	�."�6�
����
���'u"

(B) (A), (R)  ��'�2�����2���2�����/'	�."�6�
��-�����
(R), (A) �����/'	�."�6�
����
���'u"���B���

(C) (A) �/$������(R) ?
�/$�

(D) (A) ?
�/$����� (R) �/$�

42. ����'?
�B-�<
"�
��I
�0�O� �����"���5�"���E�2-��/$B���Q
D�/$B���Q��O�"�E��
(A) ����
��q
����#$&m���L�!'
(B) ����
��q
�����C�
����
(C) 4���0�2���
���F�;
(D) 1����	��
���2��O��!',�����7�

43. O���' 0� ����7G� �����5 � "� ?
��
����-������
��� ��
�	���
/'�
��	>/'�����|
(A) N'>����!'����
(B) ��/3z/$Q���
(C) �/$AB��
��
����Q���
(D) ����'?
��15�GJ�t�
���'
�"����
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44. Plowden Committee Report of 1961
is associated with

(A) Planning, Programming, Budget
system

(B) Performance Budgeting

(C) Zero based budgeting

(D) All the above

45. Who said “All administration today is
political since it must be responsive
to the public interest” ?

(A) Brain Chapman

(B) Paul Appleby

(C) Margret Thatcher

(D) Ronald Reagan

46. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).  In the context
of these two choose the correct
answer code.
Assertion (A) : A d m i n i s t r a t i v e

cour t s / t r i buna ls
settle cases between
citizen and
administration

Reason (R)     : Ordinary courts deal
with civil and
criminal offences.

Codes :
(A) Both (A) and (R) are individually

true, and (R) is the correct
explanation of (A)

(B) Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

44. 1961 �
��/'��
�?
�q��'/$M�O�02�����������5�"���-������B-�����
/'�F�A��R�
���|

(A) �/$u����������'C����K������'u"P�F2��x5�"��AB��
��
(B) ���'=��'���AB���'�F2��x5�"��AB��
��
(C) ��;�rAB�	?
��F2��x5�"�v<
"���CAB�	?
��F2��x5�"w
(D) &$6�
��+$�WS�
�J�1�J�5�"���

45. ii�/$(�� �/$�."�t�
���
������ t��F�B�	���E�2�"
����
������ �-�2����O� �
�� �����?
� ��� ��t� ����"��-��jj�1�
H��#$>�
�B���
���'��|
(A) ��."�����H�s$�
�����
(B) O�
�"�r#$
�"�n
(C) �
����'���'5�"�l�H
��!'
(D) �W��
�"9�G������

46. �����B��� ��'�2���� �/$7�
� ��
�J�� ����5�"� �/$QO�B���
�
Assertion (A) ��'�2���
���+)"?
���
�M Reason (R)
K5�"��B��T#3,
��&$7�,�W��/'	�."�6�
��/'�
��AB��
��
������ 
�;2����
�������	��/$M�
���
���@;J#����� (A) : O� �
������O���'� ������
��AB��C��� 

���B� �
���O�
���
��C��"�k�:�� �
/$	/3S	�H
���
��

-U����	���= (R)     : #'�
�"P� �������
�
�"� �-��� ����
H ����� 
�� ���B� � 
��
k�AB���'u"� ��C��"��k�:�� �
/$	/3S	k���'��

�*+a�_ :
(A) (A), (R) ��'�2�����2���2����� /'	�."�6�
��-�

�
��	��"��(R), (A) �����/'	�."�6�
����
���'u"
(B) (A), (R) ��'�2�����2���2�����/'	�."�6�
��-� (R),

(A) �����/'	�."�6�
����
���'u"���B���
(C) (A) �/$����� (R) ?
�/$�
(D) (A) ?
�/$������(R) �/$�
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47. The modern age has seen the

emergence of
(A) Democratic state
(B) Welfare state
(C) Administrative state
(D) Laissez-faire state

Read the following paragraph and

answer the questions from 48 to 50

based on your understanding of

these paragraphs.

While the terms e-government has

only been in general use in the past

five years, the phenomenon has been

developing since the mid-1980 s.

E-Government can be described as

arising from the interactions between

three separate sets of forces, each of

which has gone through its own

evolution:  ICTs, management

concepts and government itself. A

notable feature is that most of the

technological innovation and new

thinking in management practices

has occurred outside government –

especially in the private sector – while

government has been significantly

influenced by external forces, notably

the needs and capacities of the public.

In that sense, e-government is still an

evolving concept as governments

increasingly come to terms with its

characteristics and tools, it is likely to

undergo significant further evolution.

47. rAAB����������"�������B-���r�������J�KX���R���|
(A) �/$tk�=�
��C���tC�
(B) /'�X-��
�����tC�
(C) O� �����tC�
(D) (����C��'#)"?
����tC�

����B���4�
�=F2���
����C`�C���J�H
����K��1�
���/)"�
�
r AB���'��� 48 �
���2�� 50 �
�� �/$<
"J � �
���'����
/'�
��AB���"�
�=�2��%

� p��,��!�� O� �
��1�-�� /$B���� ���?
��1�'��B���
/'�� 
�? 
�q�� � � 
���2��� k�AB�� �'u"� /$	��/3
�
��2��F2���?
���
�J/$>5�"���P�D�B��TV=/3��"�� 1980 �
�
B��<
"������
��AB��C��
���2-��1~�
�T���H������%�� p��,��!�
O� �
�� �
���2���� � /$?-�C���� ��'��� 
�� {��'>2���
�
/$	u��
�� � ��� �'������1���<-" 0 #3�H
��
�H
��L%�1�
/'�
��H���'��/$k���'�k���-�Q����/$	(���
������'=/)"u"
B ��T� ��>l� �� � 
��	�� "��� � /$� � "�? 
�=� � �'�����
�
/'���"���R�
���
����'�> ���/$AB��
�����6�
��1�<
"��{�
���5�"
k���-�Q���� r�/3S��'u" �P����'=/)"u"� /$B���?
�� 
�
{��'>2���
�� �
����'�> *J� �/$��"�?
�=� ��'������F��"�7
�/$?-�C����R� �&$��-�7�� ��'�����
�� t	���'��%�K5�"?;
O�7�� � �/$t �1�
�/'�� �P�k��
����:�C 
�� �
�RL�
�
�
����'�> *�J��/$��"�?
�=�&$6��/$���
���H
��#$�D����
��
�
{��>7������ B;/)"B��� /$2�9�'��%�D� �;u"�� �
���2��
H
��#$�
�/$�2����� p��,��!���/$��"�?
�=��4����/$	u��
��
�����
���
��-��E�
�J����
��
��������	��H
��
� #'�E�7���%
�/$��"�?
�=�  X��u� 
��
��P� /$�� /$B���?
�� 
��
��
�
��	�?
���� � 
����'�> �� ���
� #'�
��1�
� /'� �'�
�
�M�
�J�B����
�P�D����
��
��/$	/$[	����
�2�������
��	�?
�
/'�
����"���/$2���?
����%
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In the past 15 years, a startling

progression of technological changes

has been absorbed into government

and increasingly into daily living.  A

summary list would include half a

dozen major developments.  An early

stage was the convergence of

computing and telecommunications,

resulting in the widespread adoption

of distributed computing on the client-

server model.  This had the effect of

putting personal computers on the

desktops and the travel luggage of a

widening circle of public servants and

transforming them into their own

typists and file clerks.  This was

followed by the adoption on the

internet in particular e-mail – outside

academic and military circles.  In

1994, the world wide web consortium

was launched using technologies

involving extensive use of graphical

as well as textual material and

offering the potential for simpler

access to the internet.  In short order,

these followed the development of

government websites and web-based

information provision and service

delivery, making possible two-way

on-line transactions between

government and citizens and external

access to government data bases.

���?
��/$�+)"�
���/'��
�?
�q�� ����r<
"L��'C�����'����t	V�
�
k���-�Q�����
����'�> ���/$��"�?
�=�/$��\��'�
�P��;���	
��
��
���AB��
��
��
����/'� �T?
����� �/$�-���H��'��%
/'�X�� /$����� H�� /$��;�� �5�"P� /'��
����'�� �� ��
1��'2��t�
��� � /$AB��
�� /$	u��
�� �
��� 4�B�������
/'�F�A��R�����	��H
��
�H
��L%�D������
���
�������B��7��
� ���/$[C7� !'P� 5. ""� ��� 
���C�� -� /3� ��� � �'��� 
1�
��/'�AB��
�?
��/m"?
���������/$[C7�!'�rAB���'�r��?
�
1�
�/'�� �����
������u"C����6�
���
��
�����������/'��T?
��k�:�'��
r����B���� ~�R��%� ��� /m"?
��-��� �
�C��� �� ��?
�
� ���/$[C7� �'� 0� 2 �� s'S5� s$� � ���/$[C7� �'� 0
r���'���H
�2���-��� �����P�R�
���'����� 4�� �
�C��� �� ��?
�
1�
�/'��'���P��/$�
��u� 
������������
��	�&$6�k�:�'��
1A�����'� ���������k�:�'���5."6#$/3�, �P�/'U��"����� 
/$���?
��
�������?��-���H-�/'��W�-��B��<
"��
���'�����H-�	��%
K5�"��W�
�k�V�/$M���1�?
���x �P�4������'��
�"��
��5�"
/$B���?
�� ���� 7G��B�C��/3��"�������'��� �F��"�7
r�/3S	�H
�F2��� 1�� 
� "�B-�� /$�� t� �'�� ���
1?�C�
�<
"C�� ������'�O��?
���'��H���B��'��%�1994,


��{��'>2���
���
���'
�"9����62!�������"�����;q	���"���v�<
"=��C/$�
1�?
���x �1"0��� �/'�
��@Cw��/'��T?
�������2������
�
�
�M�
�J����#m�!�qP�5."�!�,�q�����5�"	��"�
�"�
���1�?
���x ��B�=��
/'� ��"����1�B��������-�� /$B���Q� �;/'�� {��>7�
H -��� "�F2 ����%� /'�X �� /$ �� /$	��/3
�P� D
/$	u��
�� �J�5�"� /m"?
����� �/$��"�?
�=� �����"&'670
{��>7�P� �����"� rAB�	?
�� /'�
��H���'� /$	���� /)"u"�P
/'G=/'� ��?
���'u"P��/$��"�?
�=��O���'� ��
��AB��C�E��"��"�
�
����'��1�?
��� x � /'�
��H���'� +'�����'u"P� �/$��"�?
�=
/'�
��H���'� /'����� /)"� �A��� ����S5�"� �
���2�� 6��
1�B��������-�����/'� ���7�����">�H
�F2����%
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48. � p��,��!��O� �
��{��
���2�����~�
�J���'��� 
��{��'>2���
�

/$	u��
�� ���� �'�������
� 0�r���'���R���|

(A) ����/$[C7�!'�5."��J �P����'=/)"u"P�����5�"�!�q

(B) k�sm,�-��!'P�U�!'9�-��!'P�1�?
���x �

(C) /'�
��H���'� �/$k���'� k���-�Q���?
�P����'=/)"u"

���
��
� �P��&$��-�5�"��'�����

(D) �/$��"�?
�=�P� /'�
��H���'� �/$k���'�k���-�Q���?
�P

���'=/)"u"����
��
� �

49. k���-�Q���� r�/3S��'u" �P����'=/)"u"
��� �
��?
��
�

B��T�;Su"��/$B���?
�� �������B��7���{��'>2���
����'�����

(A) ��'X��u"���'�����

(B) �B�C��/3�'��������'�����

(C) �/$��"�?
�=���'�����

(D) �/$��"�?-�=?
���'���'��� �

50. �
���'
�"9� ���62!�� �����"� ����;q	 ���"��� {��>7�� H-���"�7�

�."�����S��/$AB��
�� X���C�

(A) �/$��"�?
�=������"�&'70�1~�
�T��

(B) �����"�rAB�	?
��/'�
��H���'�

(C) E��"��"���
����'��r���
."6�����
�C�
�U�� �

(D) 1�?
���x
������/'� ��"�1�B�����7��/$AB���Q

48. E-government evolved from the

interactions between different set of

forces that include :

(A) Computer Technology,

Management and Robotics

(B) Software, Hardware and Internet

(C) Information and Communication

Technology, Management

Concept and Private sector

(D) Government, ICT and

Management Concepts

49. Technological innovations and new

thinking in management practices

have occurred at

(A) Defence level

(B) Academic level

(C) Government level

(D) Outside Government level

50. The World Wide Web  consortium was

launched with the main objective of

(A) Development of Government

Websites

(B) Web based Information

(C) Two-way on-line transaction

(D) Simpler access to internet

———————
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